ECONOMICS

B.A. PART-l, PAPER-SUBSIDIARY

01.Who said? "Economics is only positive science".

fhaa Fgr 2 "HAURA Fad aRAaRE @A §

(A) Hicks - fgeg (B) Marshall - #TeTer
(C) Robbins - Tfaw (D) Pigou - ¥
02. which of the following is not a welfare economist?
farafaf@a srfareht & @ sl FeaoEd) RErurr & @@t 2
(A) J.B. Say - . .9 (B) Marshall - #TeTer
(C) Pigou - g (D) Cannon - shefeT
03. which of the following statement is true?
ffaf@a & & sl a1 Fya 7 2
(A) Human wants are unlimited - AT T HETHAT HeAed gt g1
(B) Means are limited - arerer @A @ §
(C) Alternative use of means - et F1 dFfeusw v g ar §
(D) all of these - A @ weft

04. Who was the father of Economics?

HNART & A HieT & ?
(A) J.B. Say - F.dF (B) Malthus - ATeY"
(C) Adam Smith - usH oAy (D) Robbins - g

05. Economics is studied:
HAATET &1 eI fhar Srar &

(A) In the forms of Normative science - e AT & ¥ &
(B) In the form of positive science - s A & ¥ F&
(C) In the form of science and Art - Raa ik FeaT F T &
(D) In the form of only Art - Fad FT F T F

06. "Economics is both Art and Science." This statement is of:

e Far AR R gt #1197 Fua e &
(A) Robinson - fa=a (B) Pigou -
(C) Keynes - Cars: | (D) Prof. Kosha -

dieg
9. rem
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07. Prof. Robbins Was supporter of: -
W. Ifeew Fad gads 9-

(A) Art form of economics - HAATET & Fell & T H

(B) Science from of economics - YT F AT F w0 F

(C) Both Art and Science from of economics - e Fer AR A S & T H
(D) All of these - sIH & |

08. The subject matter of Economics

srferer Y fawr wret &
(A) Consumption - 3THYT (B) Production - O]
(C) Exchange - Rfaww (D) All of these - IR ¥ Teft

09. According to Prof. Adam Smith Economics is:

W, TsH AT & IqUR e
(A) Science of welfare - FedmoT T fa=T &
(B) Science of wealth - &9 &1 fa=ier &
(C) Science of welfare and wealth - FeITOT TE &eT &=l T AT &
(D) All of these -3aT& & Hsft

10. Economics is a science because:
rheeT v AT § i
(A) Because of systematic study of facts -
SOA aOl & FAGE LI FAT AT §
(B) Principles of economics establish relationship between cause and effect —

AT & fagd &Ror 3 aRomA & gFaew wRa Fa &
(C) Both (A) and (B) - 3ud#a awi (A) 3R (B)
(D) None of these - T8 & HIE I8

11. Consumer behaviour is studied in: -

3UNFAT STGER HT JeIYA FaT ST 8-
(A) In Micro Economics - §&# 3rdemea # (B) In Income Theory - 3 faeayor &
(C) In Macro Economics - A rdemey & (D)None of the above - 3UUFT & P AGH

12. Micro Economics includes:

=afee srdemrer F wfenfaa ot &
(A) Individual unit - safFaeTa SHTS (B) Small unit - BR-BIE T
(C) Individual price determination - Saf&asTad Hed fAUROr (D) All of above - 39T &t

13. '‘Micros' which means small belong to:

"ASHer forasr e 2t § oY, e #F Fla-ar aeg {7
(A) Arabic word- 3T 2Tsg (B) Greek word - & reg
(C) German word - ST 2T (D) English word- sferer ersg
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14. The word 'Micro and Macro' was firstly used by:
FIU Ugo 'ATSH A AFr Aeg FT 97T FI qrer § 2
(A) Marshall - AT (B) Boulding - SYfegar
(C) Keynes - = (D) Ragner frish - ¥7aT fper

15. National income is studied in:

TSET 3T HT reqIA fhar 1T &
(A) In Micro Economics - §&# 3remeT &  (B) In Macro Economics - #AfSe srdfemer &
(C) Both A and B - A3ilX B gt & (D) None of these - 378 & HI§ =gl

16. What is essential for the demand of any goods:

forelt off o iy a1ier & fw favesr F @ Fram JraeTw @
(A) Desire for a commodity - fHT a&q $¥ g=oT g1

(B) Ability to purchase - FaAFT &TH7dr
(C) Willingness to purchase - ATt H e HTel HY deudl
(D) All of the above - 3T ot
17. Factors affecting demand is not:
AT &Y IHIAT FIA a1 ded 18l &
(A) Change in price - AT A IRadT
(B) Change in income - 31T H gRada
(C) Change in the Quantity of money - T 1 AT 7 aRadeT
(D) None of the above - 3RFT J T FIE 787

18. What is the nature of demand curve?

AT Y Y@ FY IHfa Fa7 872
(A) Demand curve slopes downwards to the right - 3T @ st= # 3R aIfgelt b el &
(B) Demand curve slopes upwards to the right -~ #T9T &% 39T I AR aTfeel! b Fhell &

(C) Demand curve slopes upwards to the left - AT I 9 Y A Tt b el ©
(D) None of these - FAH A PI§ AL
19. Law of demand in Giffen Goods-
farder aEqT # Avor F°7 for e -
(A) Applied - T3] YT & (B) Not applied - T3] 7&T YT &
(C) Uncertain - ifafRaa garg (D) None of these - SeT# & F1E gl
20. Which of the following are substitute Goods.
feafaf@a # & sl v 3wy €
(A) Tea and Coffee - T 3 1Y (B) Motor and Petrol - ®YeT 3T 9erer
(C) Pen and Ink - Fer# 3T TITEY (D) All of the above - 39Red Fsft
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21. Law of Equi-marginal utility is called:
FH-HATT STANar fRTe i a1 Fgr S §:

(A) Law of increasing utility - 39aifarar giy ferer
(B) Law of Diminishing utility - 3T=aYfardr g9 f@a#
(C) Law of substitutions -  SfaEaTaeT #T1 AT+
(D) None of these - FAH A HIS e

22. Who propounded the ordinal utility of theory?

YA T FHATIF G F1 fduresT fFaa frar?

(A) Marshall — AT (B) Pigou - deg

(C) Hicks & Allen - i@ vg vae (D) Ricardo - Rersf

23. When marginal utility is negative, then total utility —

o9 AT 3TAAAT ForeHS 8, A For ITAAT -

(A) Is maximum - FRFIA AN E
(B) Starts Decreasing - o I &

(C) Increasing at Decreasing rate - €edl & & ST ¢
(D) None of these - FAH A HIS e

24. Elasticity of Demand is a-

Hiar Y A -

(A) Qualitative statement - I[OTTcHS HYeT
(B) Quantitative statement - HTATcHSD h el

(C) Both (A) and (B) - arEt (A) 3k (B)

(D) None of these - AR A HIS G

25. Elasticity of Demand for necessities goods is:

ATaITH aﬁgsﬁﬁmfraﬂira?ﬁ%:

(A) Zero — =T (B) Greater - 3&1S & 31f0®

(C) Unlimited — 3r&ifaa (D) Less than one - TS ¥ &

26. Who explained consumer surplus for the first the time?

3YNFAT HY TIT HT IATEIAT FITIH fFaa A2

(A) Malthus — #ATeH (B) Pigou - gty
(C) Dupit - 3gfAe (D) Boulding - sifesar

27. Which rule is the base of consumer surplus?
SYHNFAT T T T RO HleT F1 fA7e7 I 3menfa &2
(A) Law of Diminishing Returns - 3Tafarar g1& fagsr
(B) Law of equality - GHTT &T fag#

(C) Law of saving - &9d &7 fagsr

(D) None of the above - 3URFd & & HIS 1T
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28. Who explained consumer surplus in a scientific way for the first time?

3YNIFAT HT TG HT AR FT IAAF T § TI9YH fFaar faedyor fFare
(A) Adam Smith - TsH &Ry (B) Ricardo - Reprsf
(C) Marshall — #efer (D) Robinson - Jfeed

29. What is the reason of consumer surplus?

3qHTFAT Y T B F FIT FRT 872

(A) Law of Diminishing utility - 39aYfrar gra @gsr

(B) Price equal to marginal utility - H¥HTer 39T & SRR 7o
(C) Equal price for all units - Weft $FEAY & forw gaATT e

(D) All of the above - 39 Fsft

30. Consumer surplus is equal to:

IUSIFT Y TIT W &

(A) Total utility — (Price x number of units purchased) - Fe SUNTACT - (TFT FT He x T&I Y
FHIEAT)

(B) Price — (Total utility x number of units purchased) — a%q %1 Hed - (el STANAAT x TG AT
FHIEAN)

(C) Numbers of units purchased — (Total utility x Price) — g% $T $HTET - (FeT ITANNCT x T€G
T 7 7)

(D) None of these - ST8 & H1E 81

31. Price elasticity of demand means:

A Y g g § wFHuT
(A) Change in demand due to change in price - FAd F gRada & FROT 7T F IRId=T
(B) Change in demand - AT & qRadeT
(C) Change in real income - aredfa® 3T & IRade
(D) All of the above - 3T gt

32. Which of the following shows elasticity of demand less than one?

SHTS A FHA AT Y AT 7 At § F i cgaa F@T 2
(A) Necessity Goods - TaRIH T&] (B) Comfort Goods - IRTHCTA® T¥]
(C) Luxury Goods - farenflar awq (D) All of the above - I9eFd Teft

33. With which method, Elasticity of Demand is measured:

AT Y o F A9 RArafaf@a # @ e R I Farsmarg :
(A) Total Expenditure method - %ef a3 fafer
(B) Percentage or Proportional Method - Sfarere 3T amefarfas fafer
(C) Point method - fag fafer
(D) All of the above - 39 Teft
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34. The nature of cross elasticity in Complementary Goods:

QX FEIIHT A Hrw oA Y wpia:

(A) Negative - UTTcHAS (B) Positive - €elTcH®R

(C) Both (A) and (B) - &1t (A) 3R (B) (D) None of the above-3RFd & & F1E
Tt

35. If the demand for a goods change by 80% due to 60% change in price the elasticity
of demand is:

IfE T aEq F 7T H 60% TRadT F FROT AT 7 80% IR g at 7w #r ol 8

(A)0.5 (B)1.3 ©)1 (D)0

36. In the ----------- all factor or inputs become variable and no inputs is fixed.
----------- ¥ gaft wR At 3T RuR aiadf o7 o § 3 8 smara Rux adi dxar B
(A) Shortrun - AHedhlel

(B) Long run - SrehTer

(C) Law of variable proportions - fafarer areyarat #1 farer

(D) Law of diminishing marginal return -  ged @HTT 9fawd &1 @I

fafer sreqamat & e Fr e sit Fgr ST R

(A) Law of diminishing marginal returns- "ed AT gfawe w1 Fga
(B) Law of increasing marginal returns - Fed " gfawe F1 Ags
(C) Law of returns - YA & yfawd &1 Ags
(D) Law of proportionate returns - rerarfare gfawer &1 faaer

38. The law of variable proportions depends on the assumption----------------- .

fafarer srepumat & foer ... ATl 9T AR e g

(A) Heterogeneity of factor - ICpckarca

(B) Homogeneity of factors - HAWY R

(C) Changing technology - qRadaefiar deedis
(D) Varied types of goods - Rffe 4R & arAET

39. Which is the best stage of production in the law of variable proportions?

fafrer sreparal & forrer F sceet &7 HieT WY =T S BT §7
(A) Increasing returns - ded fawer

(B) Diminishing returns - ged gfawe

(C) Positive marginal returns - TS HIATT dfawer
(D) Negative marginal return - HUTcAS HiATT Reat

40. In law of increasing returns-

3eufea gfg e & -

(A) MC < AC (ByYMC>AC
(C)MC=AC (D) MC x AC
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41. Which of the following is not variable inputs?

farafaf@a & ¥ sia-ar aRadeeie smm ag &

(A) Raw material - =T #ATT (B) Power - fasrelt

(C) Equipment - 39ehI0T (D) None of these - 3T & $1E T8l

42. The title of Thomas Robert Malthus most impressive writing was-

ITAH TaE ATCYH FT FIH THGAT @1 &1 ofid o1-

(A) An essay on population growth - SreraEaT gfg W o faey

(B) Population and food growth - seraeEan 3R aeg gy

(C) An essay on the principle of population - TAHEAT & RAGIT T TF AT
(D) The limitation of man - gAY Fr HAT

43. According to Malthus the population growth is.

HIUH & ITER, ST 3Ty gl ¥

(A) Proportionally - 3fe[urfas & & (B) Exponentially - €T ¥ &

(C) Arithmetically - 3{RarOIdT T & (D) Geometrically - SITAST T &

44. Nature checks on population growth can include?

STAHEAT 3iE T Ipfaw dw # e g wwa §2

(A) War - 3§ (B) Famine - {@r1

(C) Disease - Tr (D) All of these - 3URIFaT T

45. When did Malthus principal first published?

HTewd H1 FIgled Tgell IR Ha TRl g3 2

(A) 1698 (B) 1798
(C) 1898 (D) 1998

46. How many years does population become double according to Malthus?
HEUH & HJAR, FAUEAT et ast # reit g et 572

(A) 200 (B) 256

(C) 25 (D) 2000

47. "Nature’s dining table is for limited guest, so an invited visitor must starve" Whose
statement is this?

"gefa B @ F A T Afafgt F e 8, ara: Ber @AAEfa & amer are Y sraea & o@
(A) Karl Marx - &Tel #TFT (B) Dalton - 3TeesT

(C) Robbins - Ife=w (D) Malthus - ATeTH
48. “A baby come to the world not only with a mouth and stomach but also with pair of
hands" Whose statement of this?

"SIeH A T ST @ & fow g 3R I & 7@ e, afed F F & forw & gy oft aar
¥ g haeT FYa 7

(A) Prof. Cannon - 9. SeTet (B) Dalton - 3TeesT

(C) Karl Marx - &Tel HTFT (D) Hicks - fea
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49, - introduced in 1924 “the principle of optimum population” in his book
“wealth”.

------------- A 1924 F YHIRAT AT [FaF "doq" H "HJRHedH FAHEAT G Y T L=
|

(A) Malthus - ATCTHT (B) C.P. Blanker - .Y, sele¥

(C) Edwin Cannon - Usfae Shelel (D) Raymond Pear| - &3 Tef

50. Economic cost includes explicit cost and?

3t arerg # anfae g-vase aeE 3R .. |
(A) Implicit cost - 3FIST AT (B) Social cost - HTHISIS dTeTd
(C) Fixed cost - U amra (D) Money cost - ®ifg® amera

51. Opportunity cost is-

ITET AT §-

(A) Direct cost - Yot ollTd

(B) Total cost - Sl AT

(C) Accounting cost - AGIHA dRTT

(D) Cost of foregone opportunity - Ja3ITHY 3EwR FY ARTT

52. The cost which vary as the level of output varies are called-
AT Y IeTeeT & Tl & JHR -3 gt 8, 3H FgT ATl o-

(A) Variable cost - IR@dsTeiter amTd (B) Direct cost - Wcg&T dTTd

(C) Prime cost - &F AT (D) All of the above - 3T Tt
53. Which one of the following is correct?

PArfRfRadasaarad @2

(A) TC=TFC x TVC (B) TC=TFC=TVC

(C) TC=TFC+TVC (D) TC=TFC-TVC

54. When production is zero total cost will be-

ST ScqTe e 8 A ol 1T g

(A) Zero - Y=

(B) Equal to variable cost - UREIAT AT F FATT
(C) Equal to fixed cost - R amTa & wAT

(D) Equal to marginal cost -  HYHTT oRTT & AT

55.Which of the following is not an essential condition of pure competition?

foesr F @ #ler @1 e g wfaatfrar i sfrard e g 2
(A) Large numbers of buyers and sellers - shar3it 31X fasharat & o=t g=ar

(B) Homogeneous product - HATY arFd
(C) Freedom of entry - waer Y TqaFar
(D) Absence of transport - gRagd dAera 1 3T
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56. Under which of the following forms of markets structure does a firm has no control
over the price of its product?

AT & A fFT IR AT F T8 T B &1 39e 3c91E T AT W F1$ FI=70r T8 giar g2
(A) Monopoly (THIFR)

(B) Oligopoly (3reUTfFR)

(C) Monopolistic competition (THIfHRIcHS TfaAifrar)

(D) Perfect competition (ot wferanfaram)

57. Profit of the Firm will be maximum at: -

GH & A1 JfAFIA g o1 :-
(A) MR -MC
(B) Additional revenue from extra unit equals its additional cost.

@rfaRaa g$ & urca sfaRea verea s sifaled aera F s g )
(C) Both of above ~ (3UdFd g
(D) None of the above (3T & $1§ =1gl)

58. The demand curve facing a perfectly competitive firm is:

AT a3 St Ot avE & ufaeae’ ot T aAT @ @}

(A) Downward sloping (= Y 3T g7t g3m) (B) Perfectly inelastic (¥ v ¥ )
(C) A concave curve (T ddd dHh) (D) Perfectly elastic (tljr?ﬂ'a' ¥ dEER)
59. Under the Monopoly price discrimination depends upon:

THITUHR & To Hed NedTa fAsk Farg

(A) Elasticity of demand for commodity (FF F AT FY )

(B) Elasticity of supply for commodity (@& F fow smqfet &r )

(C) Size of Market (IR & ATHR)

(D) All of the above (Fuda @)

60. Marginal revenue is equal to price for which of the following types of market
structure?

AT A AT H ¥ FH TR & IR FGAT F fO0 AAT & e g ?

(A) Perfect competition - ot wfaaferar
(B) Monopolistic competition - THIFRIcAS gfaaiferar
(C) Monopoly - THITAHR
(D) Oligopoly - Feurfaer
61. Monopoly market is:
THIAFR TR & :
(A) Single seller market - THd fAddr TR
(B) Single Buyer Market - THd ol TR
(C) Single buyer and seller - THd ol adT f&shar
(D) None of the above - IURIFT & T S AT
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62. For a firm with monopoly power:

THIAHR AfFT arell B & faw :
(A) Price is equal to marginal cost - ST HHATT dRIT F T @At &
(B) Price is less than marginal cost - AT AT ARTT ¥ FH gl &
(C) Price exceeds to marginal cost - AT HHTT ARTT & 37fAF g &
(D) None of these - FAH A HIS e

63. The condition of short - run equilibrium under perfect competition is:

got wfaaforar & sfaeta sreumreller Wqerer 1 Rufa gl 2

(A) MC = MR - MC = MR

(B) MR cuts MR from below - MC, MR &Y sl & ®edr g

(C) MC is rising when it cuts AR - MC @&, AR &I &Hled gu Tgar g
(D) All of the above - 39 weft

64. Which of the following is not an essential condition of perfect competition?

fawr & @ Fler qot afaaifrar i srferard et i 82

(A) Large number of buyers and sellers - Sha13it Ta fAsrarat Y a3 gEar
(B) Homogeneous product - AW a?-‘gl;ﬁ"

(C) Perfect knowledge of the market - 9o &1 tI;UT Al

(D) None of these - 3oTH W FIE gt

65. All monopolies have the characteristics except one of the following:

A # @ e & Afalea gt vrRaR H Ravaw
(A) Diseconomies scale -3#Ter $r fawarfaar (B) no close substitutes - FAET [AFeT AGT
(C) Influence over price - AT I THE (D) barriers to entry - 32T 9 gfadetr

66. For a Monopoly, the industry demand is the firm’s:

THITUFR F foT, 3gANT AT § G &7 :

(A) Profit function - °ITH Welel

(B) Marginal revenue curve - HiATT ToET T
(C) Supply curve & GEED

(D) Demand curve - AT T

67. Monopoly can be controlled by: -
THSR F fFasd qanr fafa FrarsTasar -

(A) by social boycott - WA afgsar ganr

(B) by Anti-monopoly legislation - THIAFR A Flefel ART
(C) by public ownership - graSI s Fa1fAed ganT

(D) by all of the above - IR |t F ganr
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68. The condition of long run equilibrium for a perfectly competitive firm will be :

v qot gt &t & v Srdsreler wegerer i erdt gt :
(A) Price = MC = AC (B) Price =TC
(C)MC =AVC (D) MC = MR

69. A firm which is the sole seller of a product without any close substitute is called-

e i Y T R 3 e & frdt 3cug FT AT fashar &, Feard 8-
(A) Monopoly - THITAHR (B) Oligopoly - FeurfaeR
(C) Competition - CIGRUDG (D) Bureaucracy - CICTEN ]

70. Which of the following is a characteristic of a monopoly:

fArfaf@a & ¥ #ia a1 vefOsR i Fdvar d:

(A) Single seller or producer - 3T AT AT IUEH
(B) No close substitutes - IS FE RFeT AT
(C) Inelastic demand curve - SAIER ANT TF
(D) All of the above - 39T gt
71. The reasons for the emergence of monopoly are: -
THITUFR & 36T FTFRTE :-
(A) Concentration of ownership of raw materials - T AT & TAIACT T THIAAT
(B) State regulation - o fafegser
(C) Public utility service - graSAfa® 3TAar dar
(D) All of these - 3 weft

72. Which of the following is the best example of perfectly competitive market:
e & @ i gof gforrdf aeR #1 @99 3ot 3gERT

(A) Diamond - SIS (B) Athletics shoes - wAftFw o

(C) Soft drinks - effaer 9 (D) Farming - adr

73. Perfectly competitive firms are price takers because:
quter: gfaeadf wof e dst arelt gl & Fife:-
(A) Each firm is very large - 9ed% B agd a3 g
(B) There are no good substitutes for the goods - TEqC & et faweT 781 &
(C) Other firms also produce similar goods - G@Y % $ft FHET FEIHT FT 3cIGT FIcA 8

(D) their demand curve is downward sloping - 3% HI3T ds Fﬁﬁfram%ﬂgaﬂﬁm%
74. National income is calculated in India -

HRA & ISET T FY IOTAT Y AT § -
(A) by Central Statistical Organization - FET WIFETHY G5 IR
(B) by National Sample Survey Organization - IS gfaigel ASETOT IS ganT
(C) by Reserve Bank of India - {R R & ganmr
(D) by Finance Ministry - faea #amerT g@mr
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75.National income is calculated

IASEIT 3T Y IT0TAT Y SATAT §

(A) At Current prices - yafad Al )

(B) At constant prices - R AR

(C) Both Current and constant prices - yafad g &R g fiFar w

(D) On price ratios - ATl |

76. EYELY IIUTAT / ITAT &-

Double counting means-

(A) Counting the product more than once - 3cUTg Y TF W IS IR IT0TAT HleT
(B) Counting the product at different levels - 3cuTg, Y RAfRTsT TR W I0TAT FHIaT

(C) Calculating both the product and the payment - 3c9Tg Tq $rcTeT SIAY Y TOTAT HIAT
(D) Calculate the monetary value of the product - 3¢9TG T HIfga HeT FY FOTAT FI.

77. Which of the following is a method of measuring National Income?
frafaf@d & ¥ Fi9 TET 3T B A f AR P

(A) Income Method - 3 fafer (B) Expenditure Method =g f[{fYr
(C) Product Method - 34T fafer (D) All of the above - 3RFT w3t

78. The difference between GDP and NDP is due to
GDP 31X NDP & HET 3(a¥ &T FROT §

(A) Depreciation - g (B) Indirect Tax - AYcTaT Y

o

(C) Subsidy - 3elcTeT (D) Direct Tax - YcqaT Y

9

79. Intermediate goods are not included in GDP because

Fegadt aeg3t HY hErd 7 enfirer et frar Smar ¢ F4ifF

(A) Such goods are difficult to define - Ol et & aRemeT Fen FeT @
(B) Such goods are not directly consumed - ¥HY FEI3HT FT TeT&TeT: ST 781 AT &
(C) They cannot be valued - 3o1eh1 Hed e a1dh frar s awvaT &

(D) They create the problem of duplicity - 3® &gYUeT T FHEAT YT 1At &

80. The main exponent of social accounting method was

e Jar fafr & gq@ yfaues &
(A) Fisher  — R (B) Marshall - AT
(C) Pigou - Ry (D) Richard Stone - Ras &=

o
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81. Which of the following is a cause of difficulties in the measurement of national
income?

fAfaf@a & ¥ Fia a1 AT 37 F AT A HiEATZAT FT FROT 2
1.Difficulty in collecting data - HTPS THT A A FfSAS
2. Difficulty of Double Counting - @&l ITVTET &Y HiSATS

3. The trend of Barter System - a¥q fafa@ gomel &1 e
(A) Only 1 - &aer 1 (BYOnly2  -&ad 2
(C) Only 3 - &ael 3 (D) All of these- 3UFa st

82. What is the main indicator of economic progress of a country?

et qer & anfdw werfa &1 wener waE 24w 32
(A) Number of countrymen - erarf@at #r ¥&ar  (B) Level of Education - f¥&Tr &1 TR
(C) Per capita income - 9fa =afda ama (D) None of these - 5AH & HIE T

83. Which of the following are not included in the three-sector economy under the
circular flow of income?

T F TR Ta1E & dda Reafai@a & & sia A9 vy srdfegae & aifda a4 82
(A) Household sector LG L] (B) Business sector - SITIR &I
(C) Government sector - EXHIT 98T (D) External sector - 9169 9&iT

84. TS AT FY 0r=TT v rafdr & AT Fir Jreh §2

For what period is the national income calculated?
(A) One year - TH Y (B) Two years - aray
(C) Three years - GICECL] (D) Five years 9 a¥

85. According to Marginal Productivity Theory of Distribution, Marginal Productivity of
the factor means that

fareor 1 Wi seuresdr Rgia & TR WU A NATd Scareshar #1374 & &

(A) How much is being produced from the last unit of the factor

U Y ATeas 318 § e ST Y @ e

(B) How much is being produced from the first unit of the factor

AT Y Igel sH1E & Fraar ScueT T W e

(C) How much is being produced from the total unit of the factor

AT Y ol FHTE A Rretell Seareet 81 @ d
(D) None of these - ST# & HE 81

86. Which theory of distribution is more valid in modern times?

IryfaE T # Ao @1 w9 Rgia sts aea g

(A) Marginal Productivity Theory - I 3cuTgehdT fAgid
(B) Demand-Supply Theory - #ter- qfet &1 R

(C) Both A and B above - 3TFd A T B gt
(D) None of these - ZAH A IS AR
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87. The author of the book "The Distribution of Wealth (1899)" is —

"% FEEegere 3w 359 (1899)" TFa# & AWF ¢ -
(A) J. B. Clark -t &t Famh (B) Adam Smith -usH feny
(C) David Ricardo  -3fas Renrst (D) J. S. Mill -y, A

88. Who among the following has given the Marginal Productivity Theory of
Distribution?

fPrfaf@d & & ras RaRor &1 @iaa scuesar Rgia R §?
(A) Adam Smith - usH Ay (B) J. S. Mill -y, A
(C) J. B. Clark - &Y. FATHR (D) David Ricardo - 3fas Reprsf

89. Which of the following is not included in the assumptions of Clark’s marginal
productivity of distribution?

rafafad & ¥ Sl Fard i Fawor H AT IcgFar i AIqET § anfaa agr g

(A) Perfect competition - qot g farar

(B) Constant population - R FewEar
(C) Constant amount of capital - gl Y fagaw afer
(D) Labour is heterogeneous - A fauA g

90. Marginal Productivity Theory of Distribution is based on the following assumptions:
fravor &1 diAd scughar Rigia Rrafaf@d AaraanEt o smafia §:

1. Depreciation rule applies in the economy

- refeaaee # seafed g o A @ ¥

2. There should be a situation of perfect competition in the market

- IR A gt gfaafaar 6 Rufa Aleg &

3. The quantity of the means of production should be stable

- 3CUTEe & |TE=AY 1 AT U 8

(A) Only 1 -Fad 1 (B) Only 2 -&Had 2

(C) Both 1 and 2 -1 3k 2 =t (D) All of the above - IURYFd @i

91. Who has contributed significantly to the modern form of Marginal Productivity
Theory of Distribution?

Rrawor & WATa carewar Rgia # 3myfas w7 & F e Agcaqot Aerer fear g2
(A) Adam Smith - usH Ay (B) Lionel Robbins  -foraleter Ifaewr
(C) J. B. Clark - .4t Farh (D) Marshall el

92. Every factor of production gets reward equal to its:

3cUTEs F YA FRE P! SHF aUaT SATH AT ¢

(A) Cost - AT (B) Marginal productivity - YT 3cUTgehdr
(C) Price -Hed (D) Increasing return - gt argdY
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93. According to Ricardo's rent principle, the reason for the application of rent is —
Reprsf & rammer Rgiar & AR 90T & AT @ FT FROT g -

(A) Soil fertility - ${f3r ¥ F&Tar

(B) Lack of land - 87f#r &Y F#Y

(C) The difference between the fertility of the land - ${fr Y 3&ar & &= 3raT

(D) Fixed supply of land - ${fr #r feux qfet

94. On which laws of returns is Ricardo's theory of rent based?

N1t &1 et Rigiar 3eafed & e e ov ameRa &2

(A) On the law of increasing returns - mqﬁ' A
(B) On the law of constant returns - 3cqfcd-GHdT fA9H W
(C) On the law of diminishing returns - 3cqfed-gr fAa# 9w
(D) None of these three - BT diel) & @ FIE 8T

95. What is the lowest grade land called?

qqH A5 FIfE At 3{fF F 741 FgT AT 72
(A) Land - 8f&x (B) Marginal land - "iATe far
(C) Super marginal land - 3rfer ¥#Te &7fax (D) East Frontier Land - 9§ HeTe s{f#

96. According to the modern theory of rent —

T F Iy R IER -

(A) Rent affects the price - A H{ed F gHIfad F B,

(B) Rent does not affect the price - @3l HedA H gIfad g YT ¢,
(C) Both A and B above - 3RFd A 3R B @Y

(D) None of these -3AH ¥ PE ALK

97. By “original and indestructible power of the soil” David Ricardo means

“fAE At Hqer v afaemelt afFa" ¥ 3fas Rerst #1 34 @
(A) Fertility of the soil - fRgY &Y 3a3ar  (B) Rent of soil - e &1 feem
(C) Value of the soil - & &1 Fqz (D) None of these - BoIH & HI$ G

98. According to the Ricardian Theory rent is

RemfSaer Rrgiar & reqar oot &

(A) Difference of product of superior land and inferior land

- 3= A 3R AT ofA & g F AW

(B) Difference of income between smaller farmers and bigger farmers
- B fFamEt 3R 93 FaEt & i 319 137w

(C) Surplus of product of all categories of land above the marginal land

- HiATT oA & IR T AT A {fH F 3ewg FT AAAY
(D) None of these - S8 & HIE o8l
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99. According to the Modern theory, rent arises on

amyfas QA & IR T FE W 3eve gxar 872

(A) Labour only - &ael &H (B) Landonly - ad ¥
(C) Capital only - Fael qit (D) All factors - &t FRF

100. The modern Theory of rent has been developed by

e &1 Iryfas Rigia s garr Refa B = g2

(A) J. M. Keynes - IUH. AT (B) Alfred Marshall - 37e%s #TeleT
(C) Joan Robinson - Sifel IfaedeT (D) D.H. Robertson - H.TT.IacHT

101. The following affect rent except

fAafaf@a # st ama F gnfaa = §

(A) Better location - 9gaX ¥ (B) Fertility of land - ${f& & 3&ar
(C) Cleverness of landlords - STfigRT #T T (D) Scarcity of land - ${f&r #r Fat

102. Which one of the following pairs of economists and theories propounded by them
is correctly matched?

et ik 3a gErT R Rigidl & feafafla 7ot # @ wla o v @ARa ¥
(2) J.S. mill - Wage Fund Theory
Sw. e - #Aegh Fv g

(2) Marshall - Demand and supply theory of wages
AT - Al 1 AT 3N 3Tyl R
(A) Only 1 - Fadil (B) Only 2 - Had 2
(C) Both 1 and 2 - 13k 2@t (D) None of these - B & HIS AGI

103. According to the modern theory of wages, wages are determined by

HIGY & Iy G & TR Asgd 1 forufor g d

(A) The demand for labour - HAH AN

(B) the supply of labour - sEATfI R

(C) Both the demand for labour and the supply of labour - 573 Y AT TF 43 & qfet Q=T &

(D) none of these - ZoId & HIS &Y

104. Which one of the following pairs of economists and theories propounded by them
is correctly matched?

FrefanfeTat 3R 3a ganT wRRe Rigiet & Peafafla gaa # & #t o wd qafia ¥
(1) Prof. Marshall - Classical Theory of interest
WY, #Areier - TS HT FATAR G
(2) .M. Keynes Liquidity Preference Theory of Interest
XA e - SITST I aleldl FAAT Rgia
(A) Only 1 - Fadail (B) Only 2 - Had?2
(C) Both 1 and 2 1 3 2 =Y (D) None of these - oI W HI$ =gl
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105. Change in interest rate does not greatly affect the amount of currency to be held
for the following purposes

ST & # R o fla st & Tt S arelt Jer A A F aga venfaa ad wc @

(A) Transaction motive - AeT-Gel FT 3227

(B) Precautionary motive - HIGETAT 3827

(C) Both transaction and precautionary motive - SIAl AeASe IYUT GIaUT 3227
(D) Speculative motive - HEETe 3827

106."Interest is the reward for parting with liquidity for a specified period." Whose
statement is this?

ST U fAfRae Irafer & forw averar & aRcamr &1 (R 81" 9§ Fue e 2
(A) Marshal - AT (B) Night - ATSe
(C) Bentham - i) (D) Keynes - Fed

107. Who has contributed the modem theory of interest rate determination?

Ter &X foreioT & smyfas Rrgia # Rrwer derere R @2

(A) Paul A. Samuelson - 9Tl T.HTeHT (B) Gunnar Myrdal - =R AT
(C) Knut Wicksell - o fAeaw (D) J.R. Hicks - SR, Rew

108. Who propounded the liquidity preference theory of interest?

TS T aAlera AT g w1 yfaures fras fFar?

(A) J.M. Keynes - SI.TH. el (B) J.S. Mill - S.wq. fAer
(C) Fisher - e (D) Marshall — #efer

109. Which of the following is responsible for variation in interest rates?
ST #Y &Y F Ferar & farw AT F ¥ 3caert 7

(A) Shortage of money - FaT Y FAT

(B) Variation of risk - N A Reerar

(C) Variation in production - 3cqTgel & fReetar

(D) various uses of money - HaT % faffieer 3wANT

110. The rate of interest is determined at the point where-
SITr Y & 1 fAuRor 37 fig o3 gar ¢ sref -
(A) IS and LM curves intersect each other - IS dY4T LM dsh W@TEFTEFIE?T g

(B) IS curve is minimum - IS IF TTATA BT &
(C) IS curve is maximum -ISTw AVFaA AT
(D) none of the above - 3RFT A A RS AT

111. According to Keynes, interest is a payment for:

I & HTAR, AT TF I o

(A) Use of durable goods - feaTa aegait &T 3w (B) Use of capital - Y3t &T 3T
(C) Use of money - FgT T 3UA1T (D) Use of land - $1f& T 392
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112. Whose name is associated with the “Uncertainty-bearing theory of profit”?

“fafadaar & o & g & fFwer amr 31 82

(A) J. Schumpeter - 3. gFdIeX (B) F.H. Knight - T%.T. s8¢
(C) J.B. Clark - . .FaTR (D) F.W.Watker- T%. See,dlcHhT

113. According to Schumpeter innovation plays an important role in

FdIEY F AR FT-Yade # Ageaqor fAwr gt §

(A) Capitalist - qafrafer (B) Landowner - $ffarafe
(C) Entrepreneur - GTgdt (D) Labour - #ifA®

114." Profit is both the cause as well as the effect of innovations." Whose statement is
this?

" ST AqYT HT FROT 3T IR gt §1” I8 Faa raar €2

(A) Marshall - #TeTer (B) Schumpeter - gFdieY
(C) Knight - ATSE (D) Keynes - =8

115. Whose name is associated with the “Uncertainty-bearing theory of profit”?

"ATH F AfARudar-age Rgia” & W fraer A 53 8?

(A) J. Schumpeter - & FdIe (B) F.H. Knight - ThTT ATsE
(C) J.B. Clark - Si<ft Famh (D)F.W.Watker —T%. 3o, qreah]

116. According to Prof Knight, profit is the reward for

W e & ITAR et ey fare fawer 82

(A) Innovation - 'AG-YacieT" (B) Capital - it

(C) Foreseeable risks - gyeeff Sf&# (D)Uncertainty bearing - 3rfafaddr-ager
117. According to Professor Knight Risks are of __ kinds:

WHET ABE F FTARAAA_ IHR F 8d 8-

1. Insurable certain risks - dtAT Ay Afvaa sfaw

2. Uninsurable risks or Uncertainties - 3X-aar @y sf@s ar siaRaaan

(A) 1 only - &aer 1 (B) 2 only - &ae 2

(C) Both 1 and 2 - 1 3R 2 gt (D) None of these - I8 & F1E =TT

118. Which is the correct order of money evolution?
et faTe T WE FH Hl 71 §?
(A) Commodity Money, Paper Money, Metal Money - a¥q #gT, STt HqT, 8Tq FaT
(B) Commodity Money, Metal Money, Paper Money, Credit Money - 9¥d #HgT, 9Td T, HIITSAT
e, WG G
(C) Credit Money, Metal Money, Paper Money - §T®& Hgl, 9Td g, a»‘ma"rga
(D) None of the above - 3URFd & & HIS 1T
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119. Which one is included in the primary function of money?

e & WTATAS F A P a1 enfae §2

(A) Medium of Exchange - fafersra areasr

(B) Measure of Value - Hed &1 AT

(C) Both (A) and (B) - gt (A) 3k (B)

(D) Store of Value - e T FTHI

120. Which one is included in the secondary function of money?
HET FT gfacias® 1 & FieT |1 MiAT 82

(A) To make Deferred Payments - 3TEITArd ${arclTeT 3 & faw

(B) Store of Value - {eT HT AT

(C) Transfer of Value - {e T &I gEATedIoT

(D) All of these - 39T gt

121. “Money is what money does”. Who said this: -
“TTGT 9§ ¥ FGT T F14 FIT §” I§ Fhaet Far: -

(A) Hartley Withers - gréer fe3d (B) Harte - g1
(C) Prof. Thomas - 9Y. 41X (D) Keynes - =8
122. The function of money is: -
T T 19 5:-
(A) Medium of Exchange - fesT 1 AT
(B) Measure of Value - Hed &1 AT
(C) Store of Value - Hed HT AT
(D) All the above - 3RFT gt

123. What are the necessary conditions of Barter System?

aeq fafarera yomrelt Y smaeas ot Far 32

(A) Limited Needs - HifAT smaegsan
(B) Limited Exchange Area - MifAa _fasT &
(C) Economically Backward Society - 3T &7 & Rrast a#@=r
(D) All the above - 3T w3t
124. What are the advantages of Barter System?

T faeTaa JoTTelY & 37 Ao 872
(A) Simple System - | JOTTelY
(B) More Mutual Co-operation - 318 aREaRe Fgghr
(C) No Economic Disparities - g INTHF AT g1
(D) All the above - 3T F3it
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125. Who is the author of the book "Principles of Economics"?
“Principles of Economics” Jc# & o Hie g2

(A) Marshall - #TeTer (B) Robertson - AT
(C) Keynes - #=q (D) Pigou - Ry

126. Who wrote “The Purchasing Power of Money”’?
“The Purchasing Power of Money” f&rdet far@r a1?

(A) Keynes - &8 (B) Robertson - JqedT
(C) Marshall - #efer (D) Hawtrey — g1

127. The classical economists focussed on the role of money as —

YFETE) SrdRIEIat ¥ Fyer Y Tt apfdrerT o e -

(A) Medium of exchange - fesT F 1 "R
(B) Medium of distribution - favor F 1 ATegA
(C) Wealth - favor F 1 ATegA
(D) Link between present and future - FAAT U AT & i Fr FIr
128. Arrange the following theories in the chronological order-
HET F 3INH I FT FH A AT
(1) Cheque - A& (I1) Metal Money - €T FeT
(1) Goods Money - arFd HaT (IV) Paper Money - &TaTsT HgaT

(A vy () () ()
| @ am a (v
< @ a av)y M
@ o a0 am

129. Who is the author of the book "A Treatise on Money"?
‘A Treatise on Money’ J&d® & a@® el o2

(A) Crowder - HI3sT (B) Keynes - 1ed
(C) Robertson - J@¢H (D) Pigou - iy
130. Money contains: -
Hal 7 fAre g:-
(A) Coins - RaF (B) Currency notes - H{HY AT
(C) Cheques - 9% (D) All of the above - F9eFa Taft

131. The money that is legally accepted by everyone in the economy is called

T T St JrdeaaeyT & Wl & GanT Frepel T A Fafaw} AT Srar &, Feernan 8-
(A) Legal tender money - dufaw Al (B) Plastic money - TdTiee® el
(C) Commaodity money - 9% HaT (D) Credit money - |T&@ Hal
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132. Who is the author of the book “An Outline of Money”?
“An Outline of Money” Y& & @ il ¢

(A) Marshal - AT (B) Crouther - #1343
(C) Keynes - &eq (D) Fisher - fherX
133. Who is the author of the book "The General Theory of Employment Interest and
Money"?
“The General Theory of Employment Interest and Money” J¥d® & dGH FIAE
(A) Crowder - #I38T (B) Keynes - =g
(C) Robertson - TE&HT (D) Pigou - fer

134. The currency whose metallic value is less than the declared value is called-

Torer A[a1 1 enfeas Aew OfE Aea & 77 g1 ¢ 39 Faat §-

(A) Symbol currency - Hihfas® el (B) Principal currency - SeITeT F[gT
(C) Commodity money - a&d HaT (D) None of these - 38 & $1§ g1
135. In present India currency means —

THAT AR & AT A AT § -
(A) Coins - faa& (B) Paper money - SIarsit #gT
(C) Demand deposit - T FTATT (D) All of these - 3T & T3l

136. All currency notes, except one rupee note, are issued by -

T3t HIE Ale, TH T F Al F SIEH I HFY A E T ganrT -
(A) President - Irsgqfer (B) Ministry of Finance - faed #aTer
(C) Reserve Bank of India - TR Rerd dF (D) State Bank of India - HRAT ¥ =

137. Currency operations are reduced by —

T IRt Y FH AT AT § S8 gaRT -
(A) Ministry of Finance - faea #aTer (B) Finance Commission - faed #aTe
(C) Reserve Bank of India - TR Rerd &« (D) Planning Commission - 3T AT

138. Whose statement is “Anythings that possesses general acceptability is called
money”?

(A) Seligman - ¥ferA=T (B) Pigou - TR
(C) Kent - &€ (D) Ely — welY

139. Who propounded the statement "Bad money drives good money out of
circulation"?

“gd¥ FET =AY FAET Y Tolel ¥ qET F qall 87 FYT HT WfauTee e fHar?
(A) Crowder - HI38T (B) Keynes - f=q
(C) Robertson - T@eq (D) Gresham - I9H
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140. When money supply increases then price level rises proportionately according to:-
o HgT 1 qfet gacht T at P Ter 7 srqarfas giy e ¢ - Fuer -

(A) Marshall - ATl (B) Fisher - fheR

(C) Keynes - =8 (D) Cantillon - Shfeeet

141. In the classical theory, an increase in money supply lead to-

FaTfaae g #, FaT i 3rqfet 7 ghg F FRoT-

(A) Decrease in price level - AT T A PRrae
(B) Increase in savings -gaar # gy

(C) Decrease in investment - e & waft

(D) Increase in price level - AT TR A I

142. In the equation Vm=I/P, Vm represents-

FHIFIOT Vm=I/P F Vm YERid HI4T &-

(A) Quantity of Money - #gl $r AT (B) Value of money - #aT T Hed
(C) Value of good - 3% FT FeI (D) None of these - 3H & HI1§ =TT

143. Who is the author of the book "Principles of Economics"?
“Principles of Economics” J&d® & @ i 8.7

(A) Marshall - ATl (B) Robertson - TE¢H
(C) Keynes - = (D) Pigou - R

144. In Marshall's equation M=KY, Y represents
AT & FHHTOT M=K Y & Y Rl war §-
(A) Income - 3T (B) Annual income - STf¥® 3mg
(C) Real annual income - arFdTa® a1 3T (D) None of these - S8 ¥ H1E T

145. According to Milton Friedman, quantity theory of money deals with-

frees fisde & 3rTaR Ha1 1 aRwTor R #1 geaey -

(A) Price - AT F YT

(B) Income - AT & Y

(C) Supply for money - T Y 3mqfet F Wy
(D) Demand for money - FET T AT F WY

146. The classical economists focussed on the role of money as —
TFRETET 3Rt & 7t Fr AT e w HRa -

(A) Medium of exchange - Rafa#a &1 Aegsw

(B) Medium of distribution - faaRoT ST ATEIF

(C) Wealth - T gFIfa

(D) Link between present and future - AT U SISy & g Hr FIY
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147. If the values of all variable in Fisher’s quantity theory of money are doubled, the
price level become-

afe R & e aRaTor Rigia & @l Tt 1 A Qe FX R S, @ Fera w9 e
S —

(A) Half - e (B) Double - X[
(C) Constant - 3rqRafda (D) None of these - 3T8 & HIE 81
148. According to Fisher’s quantity theory of money: -
frer & aRaTor g % srqar:-
(A) MV=PT (B) MU=TP (C) MV=MP (D) MV=RT

149. According to Fisher’s, if the quantity of money is doubled, then the value of money
will be: -

R & AR I T 1 AT HT QW[AT FT feram Se A 7T 1 JeF = grem?
(A) Half - e (B) Double - &X[T
(C) Constant - 3qRafda (D) None of these - 3T8 & HE 81

150. The exponent of the following equation was p=kR/M

ot glteTor & yfaurgs & - p=kR / M

(A) Keynes - &8 (B) Robertson - Jae¢HT
(C) Marshall - #efer (D) Hawtrey — g1
151. In Fisher's equation —
fRreR & FHRIoT 7 —
(A) M is constant - M T & (B) P is constant - P AT &
(C) P and M is constant - P T M e & (D) V and T constant - V a1 T f&aw &

152. Who formulated the n=pk equation?

n=pk THHIT &1 gfauresT fFaer fFar -
(A) Keynes - =g (B) Robertson - TEeH
(C) Marshall - #efer (D) Pigou — s

153. Who formulated the equation M=KPT?

M=KPT "HI&Ior &1 gfaarest forast ferar?
(A) Keynes - 1= (B) Robertson - T@&w
(C) Marshall - #Tefer (D) Pigou - sy

154. Who formulated the M=KY equation?

M=KY WHYEI0T &7 faarest frast frar?
(A) Keynes - &ed (B) Robertson - TE&H
(C) Marshall - #TeTer (D) Pigou - sy
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155. According to Keynes’ income theory-
e F 317 Fgid F HTaR-
(A) Y=C-I (B) Y=C+I (C) Y=C+R (D) Y=C-R

156. According to Keynes’ income theory-
Feq & AT F{GI & HTaR-
A)1=S B)1>S ©lI<s D)l1+Ss

157.Inflation:

HAerEhifa:

)

(A) Always reduces the cost of living - GRAT SNaaAaeT A ARTT FY FH FIaT &

(B) Always reduces the standard of living - T Siigel TAX HT HH HIAT §
(C) Reduces the price of products - 3cqTEY Y AT FT FH AT &

(D) Reduces the purchasing power of a Rupee - ¥qaY #I FI AfFT T FH FIT 8.

158. Inflation is the state in which .........
A ag ravyr § B
(A) The value of money decreases - 3& &1 AT "edl g

(B) The value of money increases - 48 &T Hea a&aT §
(C) The value of the money increases first and then decreases —

I #1 7ea Te Toar § 3’ R wear #

(D) The value of money decreases first and increases later —

R &1 #eT Jed e ¢ AR a6 A g1 §

159. In inflation market goods-

Faehfa F e #r e -
(A) Gets Cheaper - FEd @ et §
(B) Get expansive - AgIt @Y STt &
(C) Decreasing in sufficiency - Wgar # HaT g aelt §
(D) Do not get - g et §
160. Benefits of increasing inflation-
AGTERTY Tg=r & @M QT B-
(A) Corporations - @3 &Y (B) Government - §3&R &I
(C) Creditor - FOTEIAT &Y (D) Borrower - Fuil &I

161. Which of the following is the cause of cost-push inflation?

farafaf@a & @ sla aeraafaa gerehfa F1 FROr 82

(A) Increase in consumption - 3usT 7 3
(B) decrease in taxation - IR & HA
(C) Increase in demand -#r # iy

(D) Increase in salary and wage - qaet 3R Aol 7 I
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162. Best way to control inflation-

HETEHIT Y AT F3et T 7AAS 39T -

(A) Punish the guilty - AR Fr we
(B) Increase production at on all level - g8t T W IcueA SerT
(C) fixed the price -Hed F g FT &

(D) Creating an atmosphere of fear and terror - X TG 31Td® HT AR T ST

163. The following steps should be taken by the central bank to control inflation-
mEhfa w1 el &= & P &y 3 @arr frafef@a Far sow s« @iie-
(A) Sale of government securities in the open market

- g AR H WHRT giasfaar fr b

(B) Decrease bank rate -dF T H FAY
(C) Purchase of securities - afasifaat &1 %9
(D) Shortfall in reserve - gifda Fw 7w

164. It is used to measure of inflation-

SHHT 3T AEEHITT F AN F fore R s -
(A) Consumption price index - 3USRT HedT GAHIH
(B) International trade index - fageft SR WaFH
(C) Whole sale price index - Y& HeT FAHF
(D) None of these -3AA § FI§ AGT

165. "Currency expansion is unjust and currency contraction unjustified" is the
statement.

"HaT RAFaR =Rt § 3R AT dFEa JRT T qE FUT B
(A) Crowder — HI38T (B) Keynes - f=q
(C) Robertson — Jqed (D) Samuelson — AT

166. When inflation is between 10-20%, it is-

99 FHEEPIfT 10-20% F o gt 8 ar I% &-
(A) Creping Inflation - {erelt Fgrehifer (B) Running Inflation - glselt Farehifa
(C) Walking Inflation - =rerell Ferehifar (D) Hyper Inflation - 3rfer sggredifer

167. Which of the following comes under monetary measures to contain inflation?

fmfaf@a & ¥ wla a1 Fhfa # J5a F fov #Alfgs 3t & sraeta smar @2

(A) Credit control - g AT
(B) Demonetisation of currency - FaT F1 AT
(C) Issue of new currency -dA% el ST FHIAT
(D) All of the above - 3TeFd |3t
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168. Which of the following comes under Fiscal measures to contain inflation?

famafaf@a & @ Fia w1 geehfa w1 efia F@ & T gewnT st & saeta
e &2
(A) Reduction in unnecessary expenditure - ATGTF TT H FHeldl FIAT
(B) Increase in Taxes -F0 A g w
(C) Both A and B - A3 B aEt
(D) None of these -FAH A FIS AR

169. Which of the following types of inflation is based on the pace of increase in prices?
et # @ rw woR A1 SRRy feet # gy # A W ameRa

(A) Creeping inflation - et Thfar (B) Walking inflation- wrefell §§ #eT FHIf

(C) Hyperinflation - 3rfar Thfar (D) All of the above - 39rFa Fsft

170. Consider the following statements regarding the effect of inflation and select the
correct answer
from the given alternatives.

TR & yog & oy # Pfaf@a sya W AR e ik P ™ [eea &
¥ W I FT
TqId HfSd|
1. 99 FHAA qedT & A FoleRl H A1 gar § 3R Fograt # g @ 2
2. 99 A Tedt § aF FHGRY FY BUR T Id @ F FROT gifer gt
3. 99 AT Tl § A TAT WAl I e FRuT HY AT g g1
(A) Only statement 1 is correct - $ael FqT 1 TE &
(B) Only statement 2 is correct - $ael T 2 HE ¢
(C) Only statement 3 is correct - hael HUT 3 TET &
(D) All the above statements are correct - 3R0Fd Tt FUT T &

171. Which of the following measures is used to control inflation?

TR 1 Frifid F0 § RT PeaaRe § 3 R 39 w1 s R S
&2
(A) Monetary measures - ®ifgew 39T (B) Fiscal measures - IJSTHNIT 39T
(C) Both A and B - A 3ilX B gi<Y (D) None of these - ST/ & 1§ Tl
172. Which of the following is the cause of inflation:

farafaf@a & ¥ sla @1 gerehfa F1 Fror
(A) Increase in Money Supply - #al '-'Iﬁ-’f ) Qﬁ'
(B) Increase in Public Expenditure - Grdaifa® =aq # iy
(C) Deficit Financing -°ge Y faca caaedn
(D) All of the above - 3TEFd |3t
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173. On increase in black money-

Fem a7 7 Y A |-

(A) Increase in inflation - e F giy el @
(B) Decrease in inflation - e F FA gt &
(C) Both A and B - A3 B aat

(D) None of these -3AH A P TS

174. Who regulates the money circulation in India?

SITCer 3 975 TREROT et Forai v Fvea 87

(A) State bank of India - U Ve o

(B) Reserve Bank of India - Rerd d 31w 2
(C) NABARD - ATETS

(D) Commercial Bank - i foas d=

175. Which of the following is not an organised sector in India?
T & O T AT # v Gorfda &3F A g 872
(A) Nationalised Bank - IsgrIee da (B) Regional Rural Bank - &Y== airafior d&
(C) Cooperative Bank - Hg®hHRI d& (D) Chits and money Lenders - &elTel SﬁTHT{HTI'T

176. The first complete commercial bank in Indiais:
HRA FT Tgell quie: arorfsas d& ¥ :
(A) Oudh Commercial Bank - 3ittr aifoifsasw d&  (B) Dena bank - e d&
(C) Imperial bank - 3FNRTe & (D) Presidency bank - ¥R d&

177. Which among the following rural bank has been named after river?
ot A @ R Irelor S T AT AL F ATH 9T I@T 71T 82

(A) Prathana Bank - QT dF

(B) Varada Grameen Bank - T ATHIT s

(C) Thar anchalik Grammen Bank - 9R 3mrafars arior &=

(D) Aravali Ketirya Grammen Bank - 3itra@elt a¥=ir aimaior &«

178. What is the animal on the insignia of the RBI?
R3¢ & Tl R W) Fiadr srees 72
(A) Lion — X (B) Tiger — &Ter (C) Panther — dig3T (D) Elephant - greft

179. The accounting year of the RBI is:
IS, FTAWT a2

(A) July-June - FeTE-STeT (B) April-March - 3rer-ATe
(C) January-December - SFeTa{)-feHaT (D) None of these - I8 ¥ F1E =TT
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180. Individual cannot open his account in:

SATF IIAT GIT A¢) @l HAT R
(A) Urban Co-operative Bank - g g dF &
(B) Reserve Bank of India - Rod dF e s &
(C) Regional Rural Bank - 8y areYor dF A

(D) Scheduled Commercial Bank - 3eJqfaa Ao & &

181. Nationalisation of banks was done with the purpose of:

dt &1 IS w332 & v T 92

(A) Financing the industries - 351t T Readryor
(B) Improving credit facilities - wre gt # frar
(C) Consolidating the economy - IACTEEYT Y AT FIAT

(D) Improving security of deposits - STHT Y &I # TR

182. Final decision of printing currency in India rests with the:

HRA # g1 H BUT$ F 3ifaw FAvia PR e :

(A) RBI - 3. 3.

(B) Ministry of Finance - Rea AT

(C) Cabinet committee on economic affairs - 3iTf¥e AT F Hfaae Al
(D) Both ‘A’ and ‘B’ - gt ‘A’ 3R ‘B’00

183. Where is the Headquarter of SBI?

HRAT VT AF 1 HEITT Fel ¢ ?
(A) New Delhi - 7§ et (B) Mumbai - {=§
(C) Patna - 9T (D) Lucknow - d@e3>

184. The rate at which banks lend to RBI is known as:
T X W &dF, IRAWE. A UR AT A FRT AT
(A) Bank rate - d&% &X (B) Repo rate - YA ¥E
(C) Reverse repo rate - Ra® WY € (D) Interest rate - sqTsT &

185. Full form of CRRis:

CRR T Fel B4 3
(A) Credit reserve ratio - e Rera R
(B) Cash recovery ratio - ey Rapady Wt
(C) Cash reserve ratio - &her Rerd YRy
(D) Credit recovery ratio - #f3e Ready Wy
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186. Who is authorized to issue coin in India?

AR # w1 T F3 & v afga 32
(A) SBI - Tq.&Y.31¢8. (B) RBI - 3. &.318.
(C) Ministry of Finance - fed #aTer (D) Supreme Court - 3T ~JIId

187. Which of the following pairs is not correctly matched?

foreer 3 & wlerT siter gAea it &:
(A) Exim Bank : Financing for export import —

yga-fAaiads mga-faata & e Reaaiyor
(B) RBI : Bankers Bank -

R3S, & cokak o
(C) IDBI : Industrial finance -

wERAE  enfrE Ao
(D) FCI : Financial assistance to commercial institutions —

. HLTE. - oo geumit F R wgr™ar
188. The largest nationalized bank in India is:

R H TaH 37 TEIF 9 ¢

(A) RBI - Rerd d 3w sf2ar (B) SBI - ¥¢€ d& 301w sf3am
(C) CBI - ¥ d& 3w sf2am (D) New Bank of India - = §& 3w $f3ar

189. The effect of decrease in the Cash Reserve Ratio of banks is:
ot & aThe Il AT A FA FH THF AT E :
(A) Increase in income of banks - de &y 3T 7 g
(B) Increase in the demand for securities by banks - §eT & ZarT afasifarat f aer 7 g
(C) Availability of more funds for credit creation of banks - d& & & ¥R ¥ faT 310w Fv
& 3uafeg
(D) All of the above - 39daa F3ft

190. When was Reserve of India was established?

ﬁaﬂ‘ﬂ'maﬁq?s’f?maﬁrmﬁgé?
(A) In 1935 - 1935 & (B) In 1938 - 1938 &
(C)In 1951 - 1951 & (D) In 1969 - 1969 &

191. Which of the following is not an asset of commercial banks?

e # & #la saais d91 fr aiarafa adi g

(A) Fixed deposit - grafer SAT
(B) Commercial credit - YIRS A
(C) Purchased bills - % fro e f{er

(D) Treasury bill of banks - ST & UTH FNTR forer
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192. Which of the following is not a main function of central bank?

s Sl drs T aer FA ad ¢ 2

(A) Authority to issue currency - AlE ST T qreT FIfAHIor
(B) Banker’s bank -dR FT AR
(C) Bank of the government - AR FT dF

(D) Promoter of industrial development - it R w1 seafawar

193. When was the International Monetary Fund established?

HASET e P Y FUTIAT Fef §E A2
(A) 27 December 1945 - 27 f&HaT 1945 (B) 30 January 1947 - 30 SteTadt 1947
(C) 1 January 1946 - 1 STeTadl 1946 (D) 24 September 1947 - 24 fAd«X 1947
194. Headquarter of International Monetary Fund is

FHATSET HGT FIY FT FEATTT ¢
(A) Washington - g & (B) Geneva - fSear#®
(C) Singapore - femqe (D) Paris - RAH
195. The function of International Monetary Fund is-

AT FGT FIY T F 3-

(A) Giving loans to poor countries - 10T &2AY Y FOT AT

(B) Solving the problem of international payments - 3TARITSEIT $TITCATET T HHEAT HT FATUTT
CXo)

(C) Economic reforms in a debt-ridden country - HOT I &2 A 3T FUR Far

(D) None of the above - 3T H ¥ RIS 7S

196. The International Monetary Fund gives credit assistance to its member countries
for the
following purposes-

IATSET FET FIY 9 TGE T G2t A fove=t 3827 & fArw o1 wergar &ar &-

(A) For long term economic growth - Erdemfare e e F faw
(B) For the establishment of heavy industries - Y 3T Y T & o
(C) To correct short term imbalance of balance of payments

- $[ITCATST Wl & eTITor AT HI SN FIA & fow
(D) For infrastructure facilities in the country -&er 3 e giyenst & faw
197. Paper gold is called?

FIETSI FI0T FHFT SATdT 872
(A) To SDR - THIIBR HT

(B) Paper rupee which is fully backed by gold - FTersit F9T for e e 7 qoT F#ede wree &
(C) The currency of the European market - JUYIT ST AT FeT 1
(D) The special currency of the Arab countries - 3 i T fady FaT
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198. The purpose of IMF is to
ITETHATE FT 3227 &
1. To promote international monetary cooperation - 3raRIrsera Alfga TgANT F Tg1aT ST

2. To facilitate the expansion and balanced growth of international trade
- HARSET MR F FAFar AR wgfera sy 1 giaer & fae
3. To promote exchange stability - fafas T feuvar # se@ETea & faw
(A) Only 1 - Fad 1 (B) only 2 - Fad 2
(C) Only 3 - Faa 3 (D) all of the above - 3T gt

199. If the Balance of Payment of a country is adverse, then which institution will help
that country?

IR FoRelY 21 7 ST Weforet wfasgel ¥, A FieT W FEuT 37 2or A Aeg FA?

(A) World Bank - e d+

(B) World Trade Organization - g R e
(C) International Monetary Fund - ST FGT FIY
(D) Asian Development Bank - ofirTs s dF

200. At present all the transactions of IMF are expressed as -

TIAT # FETATE & T AT AT A v STy -

(A) In gold - TqoT & (B) In dollars - SR H
(C) In SDR - TEANRH (D) None of the above - 39dFa A & R A
Tér
201. Consider the following statements: -
farfaf@a Fy=i | AR fifew:

Established as a result of the Bretton Woods Conference?
SeoT 30 GFAde & IRUMATawT T 1id fham arm?
1. of the International Monetary Fund.
- HAUSET HGT Py Y
2. of the International Bank for Reconstruction and Development.
- JERISEr qafeTHET 3R R i A
3. of the United Nations.

- WgFET T HY
Which of the above statements are correct?
39T FUAT A § FiT-leT & 78 872
(A) Land 2 - 132 (B)2and 3 - 233
(C)land 3 - 133 (D) 1,2and 3 - 1,233

202. When was the Bretton Woods conference held?

See g3H FFEA Fa I = arar ar 2
(A) In July 1944 - TS 1944 (B) In August 1944 - 3ITEd 1944 H
(C) In September 1944 - fAdeX 1944 & (D) In October 1944 - 3FEaT1944 H
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203. Which of the following is also known as International Bank for Reconstruction and
Development?

frrafaf@a & & R gafaator ik R & e sraisda 3% & w7 3 oft s st 22

(A) Asian Development Bank - ofs A dF
(B) World Bank - e d+
(C) Reserve Bank of India - WA Rerd d+
(D) International Monetary Fund - ST AT FIY
204. When was the World Bank established?
faea S i FuTgen 9 g€ o2
(A) 1916 - 1916 & (B) 1944 - 1944 &
(C) 1945 - 1945 & (D) 1947 - 1947 &
205. The Headquarter of World Bank is in
e dF F1 =TT
(A) Geneva - Sraar (B) Washington DC - aifdrares S
(C) New York - AT (D) Paris - e

206. World Bank is known as
g dF A s T A F=T AT ¥
(A) International Bank for Reconstruction and Development
- gafsraior ikt R & fare siextsd 3
(B) International Bank for Construction and Development
- fA=tr 3k Rea & e siaRsdT d%
(C) International Bank for Cooperation and Development
- ggarer AR e & v ey o
(D) None of the above - 3UFd & & FIE 71T

207. International Bank for Reconstruction and Development gives?
(A) Shortterm loan - 3TeqehTellel FOT (B) Long term loan - &YeishTellel FOT
(C) Both of the above - 3ud#d gt (D) None of these - 3T & FI§ gt

208. Long term financial assistance for development purpose is provided by

R & 3327 & drdwTele e wraT fFd & ganrT vare Y JTet 82

(A) ADB - lCiC ) (B) WTO - seegeIAt
(C) IMF - HTETHATH (D) World Bank - e d+
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209. Which of the following statement is correct?
frafaf@a # @ Fia a1 vy TH &2

1.IBRD provides loans for construction of infrastructure.

- HTEHAHEBITURIAT FIFT & FAATOT & FAF FOT Y& FIAT |
2. The IMF provides loans to reduce the balance of payments deficit.

- HTETHTE $ITATST AT FHT ETT Y FH FIA F fAT FOT JeTaT FIT 81
(A) Only 1 - Fad 1 (B) Only 2 - Fad 2
(C) Both 1 and 2 - aat13tt2 (D) None of these - STH A P A8l

210. India is getting loan from World Bank for which of the following project?

ARd ! feg dF @ i@ # ¥ g sRAeT & T Zor AT wr d?

(A) Rural development - aretor RS

(B) Infrastructure development - gl e #1 e
(C) Poverty alleviation - T 3T

(D) Al of the above - 3T ol

211. Which of the following statements is correct?

fArafaf@a # @ Fia a1 FyT TH B2
1. Both the IMF & IBRD have headquarters in Washington
- IMF 3R IBRD @)Y &T J&aTary arfliore 7 &

2. IBRD is known as World Bank also - IBRD ® feg dF F A M =T smarg
(A) Only 1 - Faer 1 (B) Only 2 - Fad 2
(C) Both 1 and 2 - aar13k2 (D) none ofthese - ZTH A P A8

212. Which of the following is not the function of the World Bank?
feRa A A Fla Mg ds FTa agi §2
(A) To provide long term loan to the member countries

- WEET 32T Y Grefpifaie FOT YEI i & faw
(B) To ensure exchange rate stability
- sy X R gafaa 7@ & o
(C) To provide loan to private investors belonging to member countries on its own guarantee
- g A F Taftrd sl faerel Y 3r9elt IRE 9% FHOT weTd AT
(D) To provides loan mainly for productive activities
- HET W9 § 3curesh Afafaferat & faw ot yerer Fwar

213. Which one of the following is not a direct tax?

far & @ Frar I TFAT I A 8 2
(A) Income tax - 3T I (B) Corporate Tax - fa9r e &%
(C) Custom Duty - #/#T g[eh (D) Property Tax - F9&T T
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214. The tax whose Impact and incidence falls on the same person is called:
oI &< &7 ga19 U HR U & AfFd WIS, 3A Fgd ¢ :

(A) Direct tax - 98T &Y (B) Indirect tax - 3T9cTaT hY

(C) Multiple tax - Elg' Ly (D) Progressive tax - garfarefier &3

215. If the rate of tax is the same for all income groups, then that tax will be:
e T HT aT Tt I Tt & AT T @ A, aF I e

(A) Progressive tax - WaTfarefier & (B) Regressive tax - faamst &7

(C) Proportional tax - HTe[afer® FT (D) All of the above - g8 & Tsft

216. In which year Wealth Tax was first introduced in India?
FFIET FT AR A gl aR By a¥ ey fFar @
(A) 1948 (B) 1957 (C) 1976 (D) 1991

217. “Expenditure is a better measure of ‘ability to pay tax’ than income.” This
statement was given

by:

“HIT Y FI&T =TT, FT ST &TAAT HT g AT 8" I§ YT AT 147 Om:
(A) A. Dalton - T. 3Teee & gaRT (B) N. Kaldor - U<T. HTesR & garT
(C) R. Musgrave - 3IR. AHAT & GaRT (D) Adam Smith - TSH fAY F g@RT

218. Incidence of taxation on that person who:

T R W =afFa o @ar € Y sEen

(A) Cannot shift on others - GEXT W G Tl Hahell &
(B) Can shift on others - GO W Tl el &
(C) Can deprive - g P qHAT

(D) Can deferment -Hfa R aFarg

219. If income elasticity of demand is high then:

gfg AFr v 3y & 7fAE g an:
(A) Tax rates should be reduced - & FY &3 FY TET AT AT
(B) Tax rates should be increased - & Y 31 & TGT =T ATRT

(C) Tax should not be imposed - HT AGT FAIMT AT AIRT
(D) None of the above - 3N W g AT
220. From which year Service Tax was introduced in India:
AR & T a8 I FaT T Y YO §% 2
(A) 1990-91 (B) 1994-95 (C) 2004-05 (D) 2000-01
221. The largest contribution to India’s tax revenue is:
HRT & FT TIET # g8 AfF APe=T §
(A) Corporate tax - o318 &3 &1 (B) Person income tax - 3AfFde 3T HT FT
(C) Service tax - 4T &I HI (D) Custom duty - HIHAT g[eeh T
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222. The most important source of income of state government in India is:

AR H T THRI Y AT FT g8 Ageaqur A1 8

(A) Land tax - 31@' &Y (B) Agricultural income tax - fﬁ'mib‘(
(C) Import tax - AT Yok (D) Sell tax - Y FT
223. “Ability to pay tax’ is a function of:
HT AT &THAT U FolT § :
(A) Distribution of income - 3T faaRor &t
(B) Size of national income - TSET 3T & TSR HT
(C) Size of population — FIAHEAT & HTHR FT
(D) All of the above - gt @ w3t vt

224. Agricultural income can be taxed by:
FI T 9T FT AT AT HFATE

(A) By state governments only - g T AIHRT aantT

(B) By central government only - $gd g TIHR aantT

(C) By central and state governments hoth - ¥ Ud T HIHRI &A1 & GaRT
(D) By local organizations only - Fqd TAAT HEYTHT g@RT

225. The curve showing the relationship between tax rate and tax generated income is:
Y Y g UG FT SAfoid T F TFGH FI 2T ATAT TH ¢

(A) Phillips curve - fsfacw aw (B) Lorenz curve - <l a&
(C) Ozieve curve - ASITET TH (D) Laffer curve - %Y aF

226. Carbon Tax is levied on the sale of:

‘T HC fFae {AFT 9T o9 v 8
(A) Diamond — &RT (B) Fossil fuel - SaTe# SereT
(C) Carbon dioxide - STde-315-3HTFHTSS (D) Sugarcane - =T

227. What is charged in return for the services provided by the government:
WHR GART GTT T A1 qrel [G13T F dgar F o srar § -
(A) Tax — &< (B) Fee — e (C) Fine - S[ATaT (D) Gift - 39gR

228. In time of crisis, when people give financial money to the government as per their
wish, it is

called:
WHE Fel A ST AT YA STORJAR TIFR PY HTFIF Uiy &t ¢ af 3§ Fgol o
(A) Gift - 39 (B) Subsidy - 3fejaTeT (C) Fee — e (D) Tax — &Y
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229. Which of the following statement is true:

FleT AT FYT T &
(A) Both tax and duty are optional - FT AR e Qe Rew
(B) Both tax and duty are mandatory - F AR e el AfAard B

(C) Tax is optional, but duty is mandatory - FX ferard 8, STafF o WRew o
(D) Duty is optional, but tax is mandatory - 8¢ Jfarard g, STafF F Wew ¢

230. The largest contribution to the income of central government is:

¥ TIHR A 3T F g I3RS R g
(A) Direct tax - 98T & &I (B) Indirect tax - 3T9cT&T Y T
(C) Foreign debt - fagaft =gor &1 (D) Foreign donation - faceft gret &1

231. The process of ‘Shifting of taxation’ is:

X RAacd=1(Shifting of Taxation) UfRATE :
(A) To shift from impact of tax to incidence of tax - FRTETT & FIIT TP SATet T
(B) To shift from incidence of tax to impact of tax - FTITT & FHITGTT dh ATt HY
(C) Both of the above are possible - 3UYF Sl W
(D) None of the above - 3UgFd # @ FIS T

232. The modern theory of public expenditure was propounded by whom of the
following?

Aeifes o1 &1 amyfas Rigia Feafaf@a & & frad qarr fawfe fmar ar ar
(A) Samuelson — e (B) Malthus - ATeqH
(C) Adam Smith - T ®aY (D) Fisher - e

233. Who is the author of 'The pure theory of public Expenditure'.
AT a7 1 g g & dwF i §

(A) Lutz - g (B) Samuelson - AFerHeT

(C) Keynes - %ed (D) Robbins — Ife=w

234. Who explained the law of increasing state activities?

TS & Fed T Famal &1 R[gia Fast =
(A) Musgrave - AWIT (B) Rostow - R ETAL ]
(C) Pryor - BT (D) Wagner - R

235. Who said "The increase in public expenditure is due to increase in income."
et g1 "olie s A 3 3 7 3Ty F FRor e 71

(A) Keynes - e (B) Wagner - FR

(C) Breton - CrC) (D) None of these - I8 A FIS g
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236. Who gave the Growth-oriented theory of public expenditure?
dsifas o9 # giE 71 feraes g s far
(A) Peacock-Wiseman - ®ei®-agaidtst (B) Rostow and Musgrave - J¥d Td AHIT

(C) Wagner - R (D) Pryor - R

237. 'Displacement effect' is related to:

(A) Peacock-Wiseman - Waid-assi#«l (B) Rostow and Musgrave -¥eld TF HHIT
(C) Wagner - R (D) None of these AN ¥ FIS A&

238. What should the government do in public expenditure during inflation?

HeT T & AT W o oqF F TIFR G@RT FIT FIT a1igT?

(A) should increase it - 38 gfg = Tifew
(C) should decrease it - SHH FHAI I ART
(B) Both (A) and (B) -g&t (A) 3k (B)
(D) None of these - FAH W IS G
239. During the unemployment, public expenditure in:
RIS & TAT TSI oIF A
(A) should be increase - gfg gkt =few (C) should be decrease - &Y gl aTfgw
(B) Both (A) and (B) - @t (A) 31X (B) (D) None of these - 3I& & H1E gl

240 "The very best of all plans of finance is to spend little." Who says?

" fea Y Gt Asr3it # galfeaw a8 &, Owd F7 @9 Far I | " Fa
(A) J.B. Say - SL.&d.& (B) Dalton - sTeesT
(C) Marshall - #TeTer (D) Fisher — ftheRX

241. Who among the following is the author of the book 'Public Finance'?

fEfafad & 9 #iF &F Rea 0 § aws {2

(A) Dalton - sTeesT (B) Marshall - AT
(C) Robbins - = (D) Hicks- fgeF®
242. 'Fixed expenditure' is:
ey &
(A) Expenditure on defence - &I W ey
(B) Expenditure on road lights - §3F I AU W e
(C) Both (A) and (B) - gt (A) 3k (B)
(D) None of these - FAH § P AL
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243. Variable expenditure is:

gRadeefier saa §:

(A) Expenditure on postal services - 3T aTHT 9T &
(B) Expenditure on education - T weay

(C) Expenditure on defence - &t W ey

(D) Both (A) and (B) - gt (A) 3k (B)

244. What is the effect of increase in public expenditure on the saving capacity of the
people?

It 0 # i & wert Y T 47T R AT IHT 95T B
(A) Increases - 9¢ STl § (B) Decreases - €€ SATdT &
(C) Remains unchanged - 3rqRafdd w@ar & (D) None of these - ST# & HI1E 81

245. What is the effect of increase in public expenditure on the efficiency of the people.

ST saq & gig & AT Y FIREETHAT I FIT I3 93T ¢

(A) Increases - g & (B) Decreases - Hed! §
(C) Remains constant - f&T T&dt & (D) All of the above - 3T Tsft
246. Expenditure on MGNREGA is:
HALI 9T <47 ¢
(A) Planned Expenditure - QST O
(B) Non-planned Expenditure - -AeraTeTT =
(C) Both (A) and (B) - gt (A) 3k (B)
(D) None of these - 3TN W g AT

247. Which of the following is a non-plan expenditure?

fafRd # ¥ sl v R-FeeEmag T 22

(A) Salaries payment - acfeT $[aTclTel (B) Interest payment - STt $3TcITeT
(C) Subsidies — gfewst (D) All of the above - 3TRYeFa Tsft
248. Which of the following is a plan expenditure?
faafaf@a & ¥ 9 a1 Aeama g §2
(A) Loan payment - R OT 3 dTclTeT
(B) Interest payment - STt 3Tl
(C) Construction of roads and bridges - @& 3 gat & fasfor
(D) All of the above - 39 w3t

249. The comparative cost theory of international trade has been given by: -

FHRTSET SATIR FT JeAATcHE dATeTed [AGIe fhdah ganT 2w aram -
(A) Adam smith - TsH AT (B) David Ricardo - 3fas Rersf
(C) Gottfried Haberler - ATCHISS e (D) Heckscher Ohlin - gR 3itgfae
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250. ultimately ----- was replaced by the -------- on 1st January 1995: -
1 STt 1995 FY IeACA: =mme-GY =mmmmmme garT wfaeaTie o arar ar: -

(A) GATS, WTO - dew, {499 MR Warea
(B) WTO, GATT - Seegdnan, de
(C) GATT, WTO - e, seegdisn
(D) IMF, GATT - IMETATE, e

251. The theory of absolute cost advantage is given by: -
fadat emere wmer &1 i frad gan fear s 8 -
(A) David Ricardo - 3fas Reprsf (B) Adam smith - T ®AY
(C) Taylor — &eR (D) Ohlin and Heckscher-3igfae ikt g

252. The theory of mercantilism Propagates: -
TR aT H1 g yaRa #ar §: -
(A) Encourages imports and exports - 3raTal d fAaTdal ! Nicaed FIdar e

(B) Encourages exports and discourages imports

- foraTat Y caRd #ar § 3R 3Tl F galcRd Far g

(C) Discourages exports and imports - faafal 3 3raTat #Y garcaTied AT
(D) Discourages exports and encourages imports - faaTal # galcaried Far & 31 3mamar
F NewTied Far §

253. The theory of Absolute cost advantage is based on doctrine of 'Laissez fair' which
means: -

fAYET AT ST &7 FAGTT ' 'Laissez fair” & RAgia W 3memRa § T ard §: -
(A) Let make freely - TAAATYEF TG
(B) Freedom of enterprise - 3'&31’|'JT Y Tadaan
(C) Freedom of commerce - afots &Y Fad=dr
(D) All of the above - 3RFT Tt

254. The theory of relative factor endowments is given by: -
WTATEYF WTEIT gt 1 fAgiar fras gan R aram ¢: -
(A) Ohlin and Heckscher - 3itgfae 3iX gRR (B) Taylor - eel¥

(C) Ricardo — Rersf (D) Mill — f&er
255. Foreign trade, --—- is an exchange of capital, goods and services across
borders of territories.

1T L1 | — At ar e # OEh, @ st danat F1 ee-vee @ @
(A) International - AT
(B) National - TS
(C) Both A and B -3=t A3k B

(D) None of the above - A& ¥ ®E sft A
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256. Two countries can gain from foreign trade if-
&Y 2T fadrer SUTIR F ST YT FY Fhod & Ife-

(A) Cost ratio are different - JTITe IreaTel e &

(B) Tariff rates are different - 9o &X =T &

(C) Price ratio are different - H¥Hd AT o= &

(D) Both (A) and (C) - gt (A) 3k (C)

257.To increase exports a developing country must-

ferata & 3fg & forw v Reraefter deor # onfee-

(A) Improve quality of goods - 3¢UTE T 0T T FURAT
(B) Decrease the value of currency - 3l T &F HeT FY HH HIAT
(C) Import cheap labour - HEAT A H ATATT hIeAT
(D) Both (A) and (B) - QT (A) 31T (B)
258. The largest item in India's import list is-

AR Y AT T o T ) I -
(A) Consumer goods - 3TTEFdT a?-‘c_l,'ﬁ" (B) Machinery - #efisr Y
(C) Petroleum — Seifaras (D) Computer — FTIEX

259. The theory explaining trade between two countries is called-
aY &eif & i SR Y TIvE A T RS FEArar B-
(A) Comparative advantage - delellcH® ST

(B) Comparative bargain - qelellcHs et
(C) Comparative trade - JedlcHS SATIR
(D) Comparative returns - qelellcAs gfawe

260. A country can have an increased surplus in its balance of trade as aresult of ..........

fret doar & 379+l AR Ao A aftia st F FATaTT g hdl 8

(A) Declining imports and rising exports - R 3 3tk s At
(B) Higher tariffs imposed by its trading partners - 3 Y[ AT HTAIGRT SART ST
(C) An increase in domestic inflation - T AEEhTa 7 3f
(D) An increase in capital inflow - it 3avare 7 gfy
261.The main guard of International Trade is-
HaUvET SATIR T 97T Tad &-
(A) IMF - 3T$.TH. TF (B) IBRD - 31g.4.3m.3Y.
(C) WTO - faed eI Warse (D) IFC - 3$. U ®Y.
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262. ECGC is related to-

g, gefa @-
(A) Export promotion - o gader @
(B) Export financing and insurance - faafa facaast va fi@r &
(C) Export quality certification - foraTer ayoTaear & wATOT &

(D) Publication of export statistics - 2T & HTHST HT YA &

263.The objective of establishing trade point is:

TUTIR g TUTRIT FI $T 32T &
(A) countries exchanging import-export - 3TATA-fAAT T HTETeT-YETeT et aTel &2
(B) countries exchanging import-export information - HTATd- fAATT waef H;H'HT&'IT T 3TGTel-
UG &I aret o
(C) Exchange Centre for foreign banking trade - el dfFer SR F1 Iy g
(D) Hub of collecting customs - 1T o UHTAT TR F Fw

264. In the last few years with reference to India's foreign trade which of the following
statement

is true?
faara o ant & sma F el caR & Ft A R A s wFm T ¥
(A) Import has decreased - AT A §31T g
(B) Export has decreased - T wH §3Tr ?
(C) Imports have decreased but exports have increased - mmgan%aﬁr«rﬁ'a‘ram%
(D) Both import and export have increased - 3T 3R g et e &

265. From which cash crop of India receives the maximum foreign exchange earnings

by
way of export?

HR Y e Y wae F T & garT sftraaer faeef spar i smar gree g 32
(A) Jute — J[E (B) Tobacco - daTR
(C) Tea— I (D) Coffee - HIdY

266. According to smith “vent for surplus’ approach is applicable in-

Ay & IR "de PR acaw efSehior am gidr 8-

(A) In developed countries -RefRagad
(B) In underdeveloped countries - s #
(C) In developing countries - Readfia g &
(D) All of the above - 39 w3t
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267. According to comparative advantage theory, international trade will not take place
if —
qeeTTca® et RAGIT & AR, HAWSET SR 7ET ghem afe; -
(A) One country is efficient in production of both goods
- T 3 Sl FEGIAHT F TeUIeA A FAAE
(B) One country is inefficient in production of both goods
- T 2T AXAT TEGIHT & ITIGH A HFAA ¢
(C) Opportunity cost of two products are different in both countries
- E¥At et & QAT el Y FTUT AR e -Beet &
(D) Opportunity cost of two products are same in both countries

- AT ot F AT Feuret Y ITET AR TH FHTT &Y

HRTT AR AT Y ... # Arerer 3R I Far B

(A) Population - SIeTHEAT (B) Inflation - FgrEdIfer
(C) Economy — 3r¥egasyr (D) Trade barriers - TR ATHTT
269. Free international trade maximizes world output through...........

HFT HAET AR faea seaeaT & ............ & ATEAA ¥ HFaA FaT ¢
(A) Countries reducing various taxes imposed
- gor Y Affe 0 1 FA F& ar

(B) Countries specializing in production of goods they are best suited for

-FEA3T F 3G A FAAFAT [W are &2 3w fAw walfeF 3ugaa

(C) Perfect competition between countries and other special regions

- Zait 3 31 Frew ¥t & dver oot wieRfran

(D) The diluting the international business laws and conditions between countries

- ot & i AT SATIR FefaAl 3 AT Y FH FIaAT

270. Trade between two countries can be useful if cost ratios of goods are -

&Y el & ofrer ST 3T Y HehelT & AR T3 HT AT T B -

(A) Undetermined - 3ifaRad (B) Decreasing - @& g3

(C) Equal - §ATT (D) Different — f@eet

271. International trade and domestic trade differ because of.........
FAUTSET TR R O MK <. & HROT 3T grar &l

(A) Different government policies - RaffiesT TIwRY Afa=ar

(B) Immobility of factors - gAY Y rarfarefierar

(C) Trade restrictions - R gfaeer

(D) All of the above - 3T F3it

272. Government policy about exports and imports is called-

o 31 3maTd & IR F TSR A Fr Fer S -
(A) Commercial policy - arfoifeas sifa (B) Fiscal policy - TrsTe T ifer
(C) Monetary policy - ®ifge #ifa (D) Finance policy - faea #ifar

42 |Page



273. Which of the following is international trade-

fArafaf@a & & i a1 Iaieda 99K &-
(A) Trade between countries - &t & g AR
(B) Trade between regions - 819 & T =R
(C) Trade between provinces - giaY & i AR
(D) Both (B) and (C) - gt (B) 3l (C)

274. Which is not an advantage of international trade-

HATSERT STITX T AT FHleT AT LT 8-
(A) Export of surplus production - 37foreI¥ 3cqresT 1 AT
(B) Import of defence material - T&TT | FT AT

(C) Dependence on foreign countries - fageit ¥ fAsiar
(D) Availability of cheap raw materials - §¥d #ed #Tel #T STAAT

275. If Japan and Pakistan start free trade difference in wages in two countries will

IR ST AR AR FeF SATIR 6 FT § a ar aeif F Frergd & fffewrar ........

(A) Increase - &3t (B) Decrease - gt
(C) No effect - HI§ waTa oTet (D) Double - GI[=IT g ST
276. Foreign trade creates among countries:
el saTaR et & i e FIAT R
(A) Conflicts — Ter§ (B) Cooperation - Hg2Y3T
(C) Hatred — sT®d (D) Both (A) and (B) - & (A) 31X (B)
277. Net exports equals:
g ot s g @
(A) Exports x Imports - foraTe x 3maTa
(B) Exports + Imports - forate + 3maTa
(C) Exports — Imports - o - 3T

(D) Exports of services only - &ael Aar3it &1 fAaTa

278. A tariff -
Tk YR[eh -
(A) Increases the volume of trade - SYTYR Y AT TSTaT ¢
(B) Reduces the volume of trade - SR Y AT g1 &
(C) Has no effect on volume of trade - SITIIRX T AT I HIE THIT Ag1 95T &
(D) Both (A) and (C) - gt (A) 3 (C)
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279. The terms of trade of developing countries are generally unfavourable because-

faemrerefter et & sAmaR # aret 3mHAR 9T wfage gt § FaifF-

(A) They export primary goods - 3 A aegat w1 T Fa §
(B) They import value added goods - ¥ e aftha avqat w1 T FAa 8
(C) They export few goods - 3 5% 9 AT w39
(D) Both (A) and (B) - gt (A) 3k (B)
280. What would encourage trade between two countries?
& gat & & TR Y F41 Neared HIIm?
(A) Different tax system - RAffT=r T goreht
(B) Quality control - FquTaear fagor
(C) Reduced tariffs - UR[eh HH AT

(D) Fixing import quota -3 HYeT AUt #3%

281. This is an advantage of foreign trade:
faeeft samarR 1 v @ B
(A) We can preserve our natural resources - g 319el YT fad HHTELT I WIETT FI TFHd &
(B) New technology comes to the country - &2 & 7€ dehelle 3Tl &
(C) People need not go abroad - AT T Fager SITet Y ST A8 &
(D) We can get foreign currencies - &1 farreft 7eT wrea T W B

282. International trade and domestic trade differ because of?

IR SR 3 e AR 3 e e HROT g &7

(A) Trade restrictions - SR gfaaer
(B) Immobility of factors - gTerAT Y 3rfagierar
(C) Different government policies - e IxFrY Afaar
(D) All of the above - 3WFT Tt
283. What would encourage trade between two countries?
& gat & T SR FY F47 Aearfed HIm?
(A) Different tax system - RAffa &7 yorreh
(B) Frontier checks - HFTadt aem
(C) National currencies - T HTT
(D) Reduced tariffs - 9RYeh HH AT
284. 1t is drawback of free trade-
Ig F{F SATIR T FHY g-
(A) Prices of local goods rise - T FEg3T i Al F g e e

(B) Government loses income from custom duties - HYFR HAT e F UTeT 31T @Y et 8
(C) National resources are underutilized - ISERT TATAT HT FEIATT HH FhAT ATAT &
(D) Both (A) and (B) - gt (A) 3k (B)
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285. It is drawback of protection-
g HI&TUT T FHAT §-
(A) Consumers have to pay higher prices - STSIFAT3HT Y ITT FIAAT HT HITATT FIAT ISAT &
(B) Producers get higher profits - AT ST A YT R ®
(C) Quality of goods may be affected - FEG3T Y JOTIeAT T B Hhell ©
(D) Al of the above - 3RFT g3t

286. In foreign trade protection policy means-
faeft s 3 wator A T 3ref g -
(A) Restrictions on exports - foraTa w ufaser
(B) Restriction on transfer of foreign exchanges - el RAfAsT & graiaRor w yfaser
(C) Restrictions on imports - 3TgaY W gfaEey
(D) Al of the above - IRFT gt

287. cevenennn reffers to the tax imposed on imports.

.......... A W T I § T AT g
(A) Imported tax - 3raTfad FI (B) Tariffs - Fefeh
(C) Subsidies - 3reaTe (D) Import quotas - 3TATfad Hier

288. A voluntary export restraint is the opposite form of....

Weas At gfaey 1 {adia awr aarg.....
(A) Import quotas - JTITd HIeT (B) International Tariffs - 3RS T
(C) Subsidies — TfeqsY (D) Dumping - IR

289. ....... is a group of countries agree to abolish all trade restriction and barriers?
...... &l &7 v FHg ¢ ot el s wfaeet 3k arenat @ gAea w9 F e aeAa Bl

(A) European Economic Community - U 3nfdF woer

(B) Economic Union - nfde @y

(C) Custom union - HECH ATl

(D) Free trade area - AFd SR &

290. In international trade, the full form of NAFTA is-
RIS SATIR A, ATFET HT G ATH §-

(A) National American free trade agreement - TS IANAT HFd SATIR FASAAT
(B) North Asian free trade agreement - Scadl TRIATS HFd SATIR FASIAT

(C) New anti-tariff free trade agreement - o131 el Al Fara sATaR wHEstar
(D) North American free trade agreement - 3ca AR HFd AR G
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291. AFTA is-

AFTA §-
(A) ASEAN free trade area - JTAATT FFdT AR 8T
(B) American free trade area - AN AFd AR a7
(C) Asian free trade area - RIS e AR &1
(D) Agreement for free trade area - HFd SR &7 & fow gagitan
292, ..onns was established by a multilateral treaty of 23 countries in 1947.
......... Y TUTIAT 1947 A 23 A hr qgaaiy WA g@r A 7€ o)
(A) WTO - faed SR Haraa (B) UN - HgFd TrSg
(C) GATT —dte (D) NAFTA — ATFeT
293. Tariffs are taxes imposed on ........
MF ... TEGHT T AT ST et 7
(A) Imported products - JraTfere aFIE (B) Exported products - fifara awqe
(C) Hazardous goods - @dleITsh HTHTT (D) Surplus goods - 3rferey |t

294. Tariff result in a decrease in consumer surplus because-
Fefoh & TROMATTEY ST IfArery & Ft st § F4ifh-
(A) The price and the quantity consumed of the protected good increases
- FTRYET FEG Y ST Y ST ATelt FrAeT AR AT TE A §
(B) The price and the quantity consumed of the protected good decreases
- FFRYET IFG Y 3TN At 1A ATt FroAeT R AT TEA
(C) The price of the protected good increases and quantity consumed decreases
- TR T 1 F1Ad Tl § IR STHT A S qTel AT ged @
(D) The price of the protected good decreases and quantity consumed increases

- FRB aE T HrAd wed § 3R 3sar Y 1 arel AT aed @

295. International trade forces domestic firms to become move competitive in terms of?

FHRTSERT SATIR T, BT 1 et ATa # 310 gfaeaef s & Roesa garg?

(A) The introduction of new products - AT 3cUTET &1 IR=T

(B) Product design and quality - 37916 f3amgeT 3R aporaear
(C) Product price - 3cUTE, Y AT

(D) All of the above - 3T w3t

296. Dumping refers to
TfraTae Y Wefdd Far e

(A) Buying goods at low prices abroad and selling at higher prices locally

- farert 7 o1 Al 9T WA TiEET AR TAERT R # S fal W) =T
(B) Expensive goods selling for low prices

- T AT T AGI TEIT AT
(C) Reducing tariffs- 9RIeh S el
(D) Sale of goods abroad at low price below their cost and higher price in domestic market

- Frdelt & a3t @1 3T AT ¥ $ft FA A AR e TR F Il Hrra w A=
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297. Transportation cost of trade affects: -
SATIR T ATATAT AT T el -

(A) Pattern of trade - SR 9fga

(B) Boundaries between tradable and non-tradable goods - aTaie 3 IR-samaie awgat
& g i dAw

(C) Global supply chains - df¥a® 3mqfet @

(D) All of the above - 3T g3t

298. Which of the following trade policies limit specified quantity of goods to be
imported at
one tariff rate?

farafaf@a & @ sl ot sarar AfT v RE a7 R 3raa F S arelt aeget F f@fdse
AT

1 AT FA 2
(A) Quota - FleT (B) Import tariff - 3T Yk
(C) Specific tariff - fafdrse weres (D) All of the above - 3URad Tsft

299. Which of the following policies permits a specified quantity of goods to be
imported at one
tariff rate and applies a higher tariff rate to imports this quantity?

Arfaf@a & ¥ Sl @ Afq v ARTT AT H AT 1 v TNE T W 3T & Y

sgafa & 8
3§ AT Y AT F F AT vk 3T NG & AR FEA §2
(A) Tariff quota - JRIeeh HIeT (B) Import tariff - 3T Y
(C) Specific tariff - fafirse werew (D) All of the above - I9eFd Teft
300. Free trade is based on the principle of?
HFd AR 5 RAgiar av amenmia 872
(A) Comparative advantage - qelellcH ST
(B) Comparative scale - JAATCHE JA
(C) Economies of advantage - T FY FqeggEYIT

(D) Production possibility advantage - 3cUTesT THTT AT

47 |Page



